V24
UPSSSC Technical Assistant 2019 Previous Year Paper 'xam.m

— Prepare 50% Faster

e Question No.1
Select the option that is related to the third term in the same way as the second term is related to the first term:
DART : XGLZ : : SPIN :?
Options:

1. MVOT
2. YVCT
3.YJCT

4. MVCT

5.

Answer : MVCT

e Question No. 2
Select the Venn diagram that correctly represents the classes given below.

Wives, Lecturers, Working Mothers
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Options:

1.

Q

2.b
3.C

4.d

Answer: a

e Question No. 3

In the diagram below, the triangle represents American, the circle represents singers and the rectangle represents

actors. Select the portion that represents American singers who are also actors.
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3.¢C

4.d

Answer: c

Question No. 5

Select the term that is related to the third term in the same way as the second term is related to the first term.
Cheerful : Morose : : Valiant :?

Options:

1. Absurd
2. Ideal
3.ldle

4. Coward

5.

Answer : Coward

Question No. 6

Select the term that is related to the third term in the same way as the second term is related to the first term.
Amusing : Delightful : : Weary:?

Options:

1. Overdressed
2. Exhausted
3. Greedy

4. Anxious

5.

Answer : Exhausted
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e Question No.7

Select the option that correctly fills in the blank and completes the series.
ay, cw, eu, gs,iq, ko, ______

Options:

1.nm

Answer: mm

e Question No. 8

If all the letters appearing at the odd number positions in the English alphabet are removed, then what will come at

the 9th place in the new alphabet series?
Options:

1. Letter R
2. Letter S
3. Letter Q
4. Letter P

5.

Answer : Letter R

e Question No. 9

Consider the following series of letters and numbers.

ZBN#SMAL@2318nS$59nhfpWnS#| 12Ehal
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What comes at the 5th position to the right of the 15th character from the right?
Options:

1.$
2.W
3.n
4. #

5.

Answer:n

e Question No.10

In a certain language, if beast is coded as bird, bird is coded as bike, bike is coded as car, then which among the

following will definitely fly in the sky?
Options:

1. Beast

2. Bike

3.Car

4. Cannot be determined

5.

Answer : Bike

e Question No. 1M
Select the option that will fill in the blank and complete the given series correctly.
100, 105, 1M, 118,126,135, ______

Options:

1.147

2.144
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3.146

4.145

Answer : 145

e Question No. 12

Select the option that will fill in the blank and complete the given series correctly.
3,9,27,81,243,729, ______

Options:

1.1458
2.1823
3.2187
4.2923

5.

Answer : 2923

e Question No. 13

In the following series of letters, symbols and numbers, what is the sum of the count of symbols and the count of

vowels?
3Hji9#sdIAR3%7@8&vesQi9'kbZ82k2 @saneb3@iDwt#u
Options:

1.14
2.15
3.16

4.17

Answer : 16



e Question No. 14
Find the missing figure from the given series.
3,13, M3,313, ______

Options:

1.31M3

2.13213
3.131313
4. 31331

5.

Answer : 132113

e Question No. 15

Find the analogous pair.

Annex : Lessening

Options:

1. Affix : ell

2. Jolly : back-slapping
3. Festal : happy

4. Jocund : serious

5.

Answer : Jocund : serious

e Question No. 16

In a certain language, ADDICT is written as DDATCI. How will JAGUAR be written?

Options:

ixam
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1. JUGAAR
2. GAJRAU
3. RAUGAJ
4. AJUGRA

U

Answer : GAJRAU

e Question No. 17
Which figure depicts the relationship between:

Man, Ornithology, Profession
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3.¢C

4.d

Answer: c

e Question No.18
In a certain code, JUG is coded as 38 and WATER is coded as 67. How will GLASS be coded in the same code?
Options:

1.58
2.48
3.68
4.78

5.

Answer : 58

e Question No.19

In a certain code, PICKLE is written as 793235 and FORTUNE is written as 6692355, then how will PERFUME

be written in the same code?
Options:

1.7596325
2.7596385
3.7596345
4.7595375

5.

Answer : 7596345

e Question No. 20
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Select the number that is related to the third term in the same way as the second term is related to the first term.
401:19::730:?
Options:

1.28
2.22
3.27
4.26

5.

Answer : 26

e Question No. 21

Select the option that is related to the third term in the same way as the first term is related to the second term.

Barometer : Atmosphere : : Calorimeter: ?
Options:

1. Calories
2. Heat

3. Sound

4. Humidity

5.

Answer : Heat

e Question No. 22

In the figure given below, the triangle represents married persons, the rectangle represents employed persons and

the circle represents golf players. Select the letter that represents unmarried, employed persons who do NOT play

golf.
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Options:

1F
2.C
3.J
4.E

5.

Answer : E

e Question No. 23

Read the given statements and select which of the conclusions given in the options logically follows from the

statements.

Statements:

All apples are oranges.

All oranges are bananas.

Options:

1. Some apples are not oranges.
2. Some oranges are not bananas.
3. All apple are bananas.

4. All bananas are oranges.

5.

Answer : All apple are bananas.
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e Question No. 24

Read the given statements and conclusions carefully. Assuming that the information in the statements is true, even
if they appear to be at variance with commonly known facts, select which of the conclusions logically follow(s)

from the statements beyond reasonable doubt.

Statement:

I. All planets are stars.

II. All stars are moons.

Conclusion:

|. Some stars are planets.
Il. Some moons are planets.
Options:

1. Only conclusion | follows.

2. Only conclusion Il follows.

3. Neither conclusion follows.
4. Both the conclusions follow.

S

Answer : Both the conclusions follow.

e Question No. 25

Read the given statements and conclusions carefully. Assuming that the information in the statements is true, even
if they appear to be at variance with commonly known facts, select which of the conclusions logically follow(s)

from the statements beyond reasonable doubt.

Statement:

. All pets are birds.

Il. Some birds are fishes.

Conclusion:
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I. Some fishes are pets.
II. All birds are fishes.
Options:

1. Only conclusion | follows.

2. Only conclusion Il follows.

3. Neither conclusion follows.
4. Both the conclusions follow.

5.

Answer : Neither conclusion follows.

e Question No. 26

Read the given statements and conclusions carefully. Assuming that the information in the statements is true, even
if they appear to be at variance with commonly known facts, select which of the conclusions logically follow(s)

from the statements beyond reasonable doubt.

Statement:

|. Some chairs are beds.

Il. No bed is a table.

Conclusion:

I. Some tables are beds.
II. All beds are chairs.
Options:

1. Only conclusion | follows.

2. Neither conclusion follows.
3. Only conclusion Il follows.

4. Both the conclusions follow.

5.
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Answer : Neither conclusion follows.

e Question No. 27

In a code language, tomato is called brinjal, brinjal is called radish, radish is called cabbage and cabbage is called

okra. Which one of the following will be the word for a vegetable that grows underground?
Options:

1. Cabbage
2. Okra

3. Brinjal

4. Tomato

5.

Answer : Cabbage

e Question No. 28

If the sign 'x" is interchanged with “+" and - is interchanged with ‘+, then what will be the value of the expression

below?
225%x15+3-7+1
Options:

1. 56
2.53
3.55
4.51

5.

Answer : 51

e Question No. 29



0D
ixam Pees @

If the sign 'x" is interchanged with ‘+" and -’ is interchanged with ‘+’, then what will be the value of the expression

below?
136x8+3-5+3
Options:

1.59
2.53
3.5

4.56

5.

Answer : 53

e Question No. 30
Martha said to Linda, “Your mother’s father’s only son’s only sister is my father’s wife.”
How is Linda related to Martha?
Options:

1. Aunt
2. Sister
3. Cousin
4. Niece

5.

Answer : Sister

e Question No. 31

Choose the figure that is different from the rest.
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(A) (B) (©) (D) (E)

Options:

1.C
2.B
3.A
4.D

5.

Answer: D

e Question No. 32

Choose the figure that is different from the rest.

§ 4
1 413

213 5|1

2

2

1
5
4

4

(A) (B) (C) (D) (E)

Options:

1.C
2.B
3.A
4.E

5.

Answer : B

e Question No. 33
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On a farm, there are as many men as oxen. There are twice as many hens as there are men and three times as many
cows as oxen. The total head count is 14. What is the leg count of the cows?
Options:

1.32
2.24
3.16
4.8

5.
Answer: 24

Direction:

The pie diagram below shows the investment made by a person in different financial instruments. Study the

diagram and answer the question given below:

Distribution of Investment

Fixed Deposit
3%

B Govt. Sectors 8 Bonds ® Fixed Deposit ® PPF ®5hares ® Mutral Funds

e Question No. 34

If the amount invested in Bonds is 8,000, then what is the amount invested in Shares?

Options:

1.¥30,000

2.320,000
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3.%60,000
4.340,000

5.
Answer : 30,000

Direction:

The bar diagram below shows the data of the number of students (in thousands) who cleared a competitive exam

from the year 2012 to the year 2016. Study the diagram and answer the question given below:

118
120
104
10
L
20
]

&
e

21 2013 2004 2015 206

e Question No. 35

What is the percentage increase, from 2013 to 2014, in the number of students who cleared the exam?

Options:

1.15.4%
2.18.2%
3.16%

4.17.3%

5.

Answer :18.2%

Direction:
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The bar diagram below shows the data of the number of students (in thousands) who cleared a competitive exam

from the year 2012 to the year 2016. Study the diagram and answer the question given below:

140
12

©h

e Question No. 36
What is the total number of students who cleared the exam till 2014?
Options:

1.150

2.250
3.245
4.292

5.

Answer : 245

e Question No. 37

Hari, a printer, is printing a book. He numbers the pages beginning with 1and uses 3,189 digits in all. Can you tell the

total number of pages in the book Hari is printing?
Options:

1.1,022
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2.1,074
3.1,043

4.1,062

Answer : 1,074

e Question No. 38

In the figure given below, the triangle represents married persons, the rectangle represents employed persons and
the circle represents golf players. Select the letter that represents married persons who play golf but are NOT

employed.

Options:

1F
2.J
3.C
4.G

5.

Answer: G

e Question No. 39

What is the total number of rectangles in the figure below?
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Options:

1. 65
2.64
3.84
4.86

5.

Answer : 65

Question No. 40

From his fishpond, Niyaz went to the fish market. First, he went straight towards the north for 2 km and then turned
right. Thereafter, he walked straight for a distance of 3 km and then turning left, he walked 3 km to reach the fish

market. In which direction is Niyaz's fishpond located with respect to the fish market?

Options:

1. North-east

2. South-east
3. South-west
4. North-west

5.

Answer : South-west

Question No. 41

From his fishpond, Niyaz went to the fish market. First, he went straight towards the north for 2 km and then turned
right. Thereafter, he walked for a distance of 3 km straight and then turning left, he walked 2 km to reach the fish

market. What is the shortest distance between Niyaz’s fishpond and the fish market?

Options:
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1.5.5 km
2.45 km
3.5km

4.35km

Answer : 5 km

Question No. 42

Consider the given statement and decide which of the assumptions given in the options is implicit in the

statement.

Statement:
The winning team deservingly celebrated all night by dancing and indulging in tasty food.
Options:

1. When a team wins, the host country throws a party in their honour.

2. When a team wins, the sports ministry of their country throws a party in their honour.

3. Dancing and indulging in food is one of the ways to celebrate.

4. Cricket players are always looking forward to winning a match so that they can celebrate in style.

5.
Answer : Dancing and indulging in food is one of the ways to celebrate.

Direction:
Given below is a statement, followed by two arguments numbered | and Il. Assuming that the information provided
in the statement and the arguments is correct (even if it appears to be at variance with commonly known facts),

select the argument that is ‘strong’ with respect to the statement given.

Question No. 43

Statement:

Should the minister distribute free laptops to underprivileged students who have dropped out of school?

Argument:
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l. Yes. The school dropouts have no other source of entertainment. The laptops will keep them busy.

IIl. No. The minister can use the money to provide continued education and vocational training to the school

dropouts so that they can earn a livelihood.
Options:

1. Only argument | is strong.

2. Only argument Il is strong.

3. Neither argument | nor argument Il is strong.
4. Both the arguments are strong.

5.

Answer : Only argument Il is strong.

Direction:

Given below is a statement, followed by two arguments numbered | and Il. Assuming that the information provided
in the statement and the arguments is correct (even if it appears to be at variance with commonly known facts),

select the statement that is ‘strong” with respect to the statement.

Question No. 44

Statement:

Should the government disallow eating and drinking at all beaches?

Argument:

l. Yes. People have been dumping plastic waste and other leftovers on beaches and have dirtied them a lot.
Il. No. The leftover food is very crucial for the survival of sea creatures.
Options:

1. Only argument | is strong.

2. Only argument Il is strong.

3. Neither argument | nor argument Il is strong.
4. Both the arguments are strong.

5.
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Answer : Only argument | is strong.

e Question No. 45

Mahathir is Najma’s husband. Najma’s son, Kamran’s wife Reshma has a son named Ashraf. Ashraf’s only sister is Urja.

How is Mahathir related to Urja?
Options:

1. Father

2. Grandfather
3. Cousin

4. Uncle

5.

Answer : Grandfather

e Question No. 46

Showing a photograph of a girl, Prateek said, “This is Gunjan. She is my father’s mother-in-law’s husband’s only

daughter’s daughter.”
How is Gunjan related to Prateek?
Options:

1. Mother
2. Sister

3. Daughter
4. Niece

5.

Answer : Sister

e Question No. 47

Read the given question and decide which of the following options is required to answer the question?
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Question:
Lucy is standing in the immigration queue. How many people are there in the queue?
Options:

1.15 persons are standing before Lucy.

2. Lucy is standing exactly in the middle of the queue.

3. Eight persons are standing ahead of Lucy and 11 persons are standing behind the person standing just
ahead of Lucy in the queue.

4. Eleven persons are standing ahead of Lucy and 9 persons are standing ahead of the person standing just
ahead of Lucy in the queue.

5.
Answer : Eight persons are standing ahead of Lucy and 11 persons are standing behind the person standing just
ahead of Lucy in the queue.
e Question No. 48

R ead the given question and decide which of the following options is required to answer the question.

Question:
Piyush bought 7 dozen apples and 3 dozen oranges. How much did he spend in all?
Options:

1. Oranges are more expensive than apples by ¥5.

2. Each apple costs ¥4 and each orange costs slightly less than that.
3. The cost of each orange is ¥4.5 and each apple costs 7.

4. The ratio between the cost of apple and orange is 3:4.

5.

Answer : The cost of each orange is ¥4.5 and each apple costs 37.

e Question No. 49

In a race, Gary ran faster than Jai. Neil ran faster than Jai. Sam ran slower than Gary. Who came first in the race?
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Options:

1. Cannot be determined
2. Jai

3. Gary

4. Niel

5.

Answer : Cannot be determined

e Question No. 50

The ratio of the ages of a child, his father and grandfather is 1: 5 : 9. Three years hence, the child will be 10 years old.

What is the present age of the grandfather?
Options:

1.72 years
2. 63 years
3.56 years
4,78 years

D;

Answer : 63 years

e Question No. 51
Name the Google computer program that defeated a professional GO player.
Options:

1. C25K

2. AlphaGo
3. Odikyo
4. Blue

5.
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Answer : AlphaGo

e Question No. 52

How many Lok Sabha constituencies are present in Uttar Pradesh?
Options:

1. 64
2.75
3.80
4.70

5.

Answer : 80

e Question No. 53
The high yield variety seeds Sonalika and Kalyan Sona belong to which crop?
Options:

1. Barley
2. Rice

3. Wheat
4. Maize

5.

Answer : Wheat

e Question No. 54

With which of the following sports are the terms ‘Serve’ and ‘Volley’associated?
Options:

1. Tennis



2. Tennis
3. Table tennis
4. Squash

5.

Answer : Tennis

e Question No. 55

Where is the Ramakrishna Mission headquartered?

Options:

1. Mumbai

2. Chennai

3. Belur Math

4. Kumbakonam

5.

Answer : Belur Math

e Question No. 56

Who was the first ruler of the Pala dynasty?

Options:

1. Devapala
2. Rampala
3. Gopala

4. Mahipala

5.

Answer : Gopala

e Question No. 57
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The total number of crops covered under the Government of India’s Minimum Support Price (MSP) is:
Options:

1.20
2.22
3.24
4.18

5.

Answer: 22

e Question No. 58
Pusa Hybrid 4 is a hybrid variety of:
Options:

1. Potato

2. Tomato
3.Banana
4. Papaya

5.

Answer : Tomato

e Question No. 59
Which was the first Indian state to set up a ‘Special Agriculture Zone'?
Options:

1. Tamil Nadu
2. Punjab

3. Uttarakhand
4. Gujarat

5.



Answer : Uttarakhand

e Question No. 60

Who was the first Indian woman to become a chess Grandmaster?

Options:

1. Arti Ramaswamy
2. Humpy Koneru
3. S Vijayalakshmi
4. Krutika Nadig

5.

Answer : S Vijayalakshmi

e Question No. 61
In which year did the first Danish East India Company start its operations?
Options:

1.1616

2.1650
3.1630
4.1670

5.

Answer : 1616

e Question No. 62
In India, 30th January is celebrated as:
Options:

1. Father’s Day

ixam
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2. Martyr’s Day
3. Teacher’s Day
4. Mother’s Day
5.

Answer : Martyr's Day

e Question No. 63

Which of the following places is famous for Madhubani art?

Options:

1. Tanjore
2. Mithila
3. Hyderabad

4. Bhubaneswar

5.

Answer : Mithila

e Question No. 64

In which year was the first Economic Census carried out in India?
Options:

1.1977

2.1975

3.1980

4.1965

5.

Answer : 1977

e Question No. 65

ixam
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Name the Indian lady who headed Pepsico from 2006 to 2018.
Options:

1. Shikha Sharma
2. Indra Nooyi

3. Vinita Bali

4. Chanda Kochhar

5.

Answer : Indra Nooyi

e Question No. 66
Which of the following protocols is used to receive email?
Options:

1. SMTP
2.HTTP
3.FTP

4.POP3

5.

Answer : POP3

e Question No. 67
In which year did Uttar Pradesh’s first Chief Minister, Govind Ballabh Pant, receive the Bharat Ratna?
Options:

1.1955
2.1960
3.1957
4.1961

5.

0(6
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Answer : 1957

¢ Question No. 68
The inter-agency setup by G-20 nations to enhance food market transparency is called:
Options:

1. Agricultural Market Information System
2. Agricultural Market Information Service
3. Agricultural Merchant Information System
4. Agricultural Merchant Information Service

5.

Answer : Agricultural Market Information System

e Question No. 69
In which district of Uttar Pradesh is Chandra Prabha wildlife sanctuary located?
Options:

1. Agra

2. Chandauli
3. Unnao

4. Meerut

5.

Answer : Chandauli

¢ Question No. 70
Name the first female Olympic medal winner from India.
Options:

1. PV Sindhu



2. Saina Nehwal
3. Mary Kom
4. Karnam Malleswari

5.

Answer : Karnam Malleswari

e Question No. 71

‘The Story of My Experiments with Truth” was written by:

Options:

1. Manilal Gandhi

2. Gopalakrishna Gandhi
3. Devdas Gandhi

4. Mohandas K Gandhi

5.

Answer : Mohandas K Gandhi

e Question No. 72

In which state is the Paithan Hydro-electric project located?

Options:

1. Tamil Nadu

2. Gujarat

3. Andhra Pradesh
4. Maharashtra

5.

Answer : Maharashtra

e Question No. 73

ixam
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Name the highest peak in Kerala.

Options:

1. Agastya

2. Chembara
3. Anamudi
4. Banasura

5.

Answer : Anamudi

e Question No. 74

Who is known as the Picasso of India?

Options:

1. Magbool Fida Husain

2. Muhammed Fida Husain
3. Magbool Fazal Husain

4. Muhammed Fazal Husain

5.

Answer : Magbool Fida Husain

e Question No. 75

If all three interior angles of a triangle are less than 90°, it is called a/an:

Options:

1. Isosceles triangle
2. Right triangle

3. Obtuse triangle
4. Acute triangle

5.

ixam
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Answer : Acute triangle

e Question No. 76

Which of the following is an example of a total root parasite?
Options:

1. Orobanche
2. Cuscuta

3. Loranthus
4. Cyprus

5.

Answer : Orobanche

e Question No. 77
______ is a synthetic auxin.
Options:

1. CAM
2.1BA
3.1AA
4.NAA

5.

Answer : NAA

e Question No. 78
Identify the disease caused by Mycoplasma.
Options:

1. Little leaf of brinjal



2. Banana bunchy top
3. Yellow vein mosaic
4. Sterility mosaic

5.

Answer : Little leaf of brinjal

e Question No. 79

Which of the following pre-emergence herbicides is recommended for Maize?

Options:

1. Atrazine
2.2,4-D

3. Paraquat

4. Glyphosate

5.

Answer : Atrazine

e Question No. 80

Central Institute for Cotton Research (CICR) is located in:

Options:

1. Hyderabad
2. Nagpur

3. Haryana
4. Punjab

5.

Answer : Nagpur

e Question No. 81

ixam
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Fruit cracking is due to the deficiency of:

Options:

1. Iron
2.Boron
3. Potash
4.7inc

5.

Answer : Boron

e Question No. 82

Identify the stem nodulating legume.

Options:

1. Crotalaria juncea
2. Sesbania aculeate
3. Phaseolus trilobus
4. Medicago sativa

5.

Answer : Sesbania aculeate

e Question No. 83

Canker disease in citrus fruits is caused by:

Options:

1. Fungi

2. Mycoplasma
3. Bacteria

4. Virus

5.

ixam
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Answer : Bacteria

¢ Question No. 84
The ‘Grow More Food’ campaign was launched in the year:
Options:

1.1954
2.1948
3.1946
4.1952

5.

Answer : 1948

e Question No. 85
The process of preserving organelles, cells and tissues at -196 °C in liquid nitrogen is called:
Options:

1. vitrification

2. cryo preservation
3. tissue culture

4. gene therapy

5.

Answer : cryo preservation

e Question No. 86
In potatoes, black heart is caused by:
Options:

1. lack of COlin storage



2. lack of light in storage
3.lack of OOin storage
4. deficiency of Boron

5.

Answer : lack of Olin storage

e Question No. 87

The weed Phalaris minor belongs to the family:

Options:

1. Graminaceae
2. Fabaceae

3. Malvaceae

4. Cruciferaceae

5.

Answer : Graminaceae

e Question No. 88

The Destructive Insects and Pests Act came into force in the year:

Options:

1.1914
2.1905
3.1919
4.1915

5.

Answer : 1914

e Question No. 89

ixam
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International Rice Research Institute (IRRI) is located in:
Options:

1. Nairobi

2. Hyderabad
3. Ethiopia

4. Manila

5.

Answer : Manila

e Question No. 90

Who among the following is known as the ‘Father of Statistics™
Options:

1. RA. Fischer
2. Pearson

3. Boddington
4. AL. Bowley

5.

Answer : R.A. Fischer

e Question No. 91

Which of the following is an example of monopsony?
Options:

1. Indian Railways

2. Organization of the Petroleum Exporting Countries (OPEC)
3. Retail Trade

4.Tea Board

5.
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Answer : Tea Board

e Question No. 92

If the rate of application is 3.0 kg of insecticides per hectare, the quantity of simazine (80% WP) required to be

sprayed over a 0.4 hectare area would be:
Options:

1.1.0 kg
2.2.0 kg
3.1.5 kg
4.0.75 kg

5.

Answer : 15 kg

e Question No. 93
Heroine, one of the major chemicals responsible for drug abuse, is obtained from:
Options:

1. Datura

2. Poppy

3. Periwinkle
4. Hemp

5.

Answer : Poppy

e Question No. 94

Calculate the spray fluid concentration when 1.5 | of monocrotophos 36 SC is applied over 2 hectare of chilli crop by

making 1000 | of spray fluid.

Options:



1.0.01%

2.0.05%
3.0.04%
4.0.03%

5.

Answer : 0.05%

e Question No. 95

In case of sugarcane, the planting material is obtained from:
Options:

1. bottom one-third portion of the cane
2. top one-third portion of the cane

3. middle one-third portion of the cane
4. |ateral shoots

5.

Answer : top one-third portion of the cane

e Question No. 96

Stem application in cotton is followed for the management of:
Options:

1. borers

2. boll worms

3. sucking insects
4. root feeders

5.

Answer : sucking insects

ixam

0(6



e Question No. 97

The per hectare seed rate of tobacco is:

Options:

1.1-2 kg
2.6-7kg
3.3-5 kg
4.7-8 kg

5.

Answer : 3-5 kg

e Question No. 98

Parthenium can be controlled by using bio-agents like:

Options:

1. Cactoblastis cactorum
2. Ophiomyia lantanae

3. Solvenia molesta

4. Zygogramma bicolorata

5.

Answer : Zygogramma bicolorata

e Question No. 99

is the irrigation method suitable for undulating lands and sandy soils.

Options:

1. Border strip
2. Sprinkler

3. Check basin
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4. Furrow method

5.

Answer : Sprinkler

e Question No. 100

Which of the following hormones is used as a herbicide?

Options:

1. Auxin

2. Cytokinin
3.2,4-D

4. Abscisic acid

5.

Answer: 2, 4-D

e Question No. 101

For what was Albert Einstein awarded Nobel Prize?

Options:

1. Laws of Photoelectric Effect
2. Laws of Magnetism

3. Theory of Relativity

4. Theory of Gravitation

5.

Answer : Laws of Photoelectric Effect

e Question No. 102

Which among the following are present in higher amount in hard water?
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Options:

1. Calcium and Magnesium

2. Calcium and Potassium

3. Potassium and Magnesium
4. Sodium and Calcium

5.

Answer : Calcium and Magnesium

e Question No.103

Which among the following term refers to the commercial rearing of silkworms?
Options:

1. Vericulture
2. Sericulture
3. Liticulture

4. Pisciculture

5.

Answer : Sericulture

e Question No. 104

_______ is a simple device that is used to either break an electric circuit or complete it.
Options:

1. Transistor
2. Fuse

3. Resistor
4. Switch

5.

Answer : Switch

ixam

0(6



ixam

e Question No. 105

Which among the following nutrients is essential for the normal functioning of the thyroid gland?
Options:

1. Sodium

2. Calcium
3. lodine

4. Potassium

5.

Answer : lodine

e Question No. 106

What is the minimum distance one has to stand at from a wall to hear an echo?
Options:

1.94m
2.172m
3.17.2 cm
4.94cm

5.

Answer:17.2m

e Question No. 107

_______ Chromosomes are affected in Turner syndrome.
Options:

1.14
2.28

3.34

0(6



4.45

Answer : 45

e Question No. 108
On the basis of which phenomenon does a Jet Engine work?
Options:

1. Conservation of velocity

2. Conservation of linear momentum
3. Conservation of acceleration

4. Conservation of circular momentum

5.

Answer : Conservation of linear momentum

e Question No.109
Motion that repeats itself after some period of time, is called ______ motion.

Options:

1. rectilinea

2. periodic

3. uniform

4. non-uniform

5.

Answer : periodic

e Question No. 110

Which among the following is necessarily present in an alloy for it to be referred as ‘Amalgam’?
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Options:

1. Silver

2. Cobalt
3. Nickel

4. Mercury

5.

Answer : Mercury

e Question No. 111

______ is the Sl unit of dynamic viscosity.

Options:

1. Newton per metre

2. Pascal second

3. Newton per metre square
4. Pascal metre

5.

Answer : Pascal second

e Question No. 112

Which among the following is produced using ‘Haber Process’?

Options:

1. Ammonia

2. Carbon dioxide
3. Sulphur dioxide
4.0zone

5.

Answer : Ammonia
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e Question No. 113

When the heavier component in a mixture settles after water is added to it, the process is called

Options:

1. yarning

2. sieving

3. sedimentation
4. threshing

5.

Answer : sedimentation

e Question No. 114
Shadows are formed whena/an___ object comes in the path of light.
Options:

1. transparent
2. translucent
3. luminous
4. opaque

5.

Answer : opaque

e Question No. 115

A______ is a passive two-terminal electrical component that implements electrical resistance as a circuit element.
Options:

1. resistor

2.diode

3. transistor
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4. capacitor

5.

Answer : resistor

e Question No. 116
What is a fertiliser that supplies two or more than two primary nutrients called?
Options:

1. Straight fertiliser
2. Organic manure
3. Green manure

4. Complex fertiliser

5.

Answer : Complex fertiliser

e Question No. 117
A day is considered a rainy day when it receives a rainfall of:
Options:

1.3.0 mm
2.2.0 mm
3.25mm
4.12.5 mm

5.

Answer: 2.5 mm

e Question No. 118

Weight of one cotton bale is:
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Options:

1.190 kg
2.180 kg
3.186 kg
4.182 kg

5.

Answer : 180 kg

e Question No. 119

What is the percentage of nitrogen present in farm yard manure (FYM) in general?
Options:

1.05
2.06
3.08
4.0.7

5.

Answer : 0.5

e Question No.120

The interaction between the alleles of two or more loci is known as:
Options:

1. epidemiology
2. epiphytosis
3. epistasis

4. dominant

5.

Answer : epistasis



e Question No. 121

Division of Agricultural Meteorology at Pune was established in:
Options:

1.1932
2.1930
3.1905
4.1924

5.

Answer : 1932

e Question No. 122
The book ‘Fungi and Plant Diseases’ was written by:
Options:

1. Dr KC Mehta

2. Dr BB Mundukur
3. Dr EJ Butler

4. Dr JF Dastur

5.

Answer : Dr BB Mundukur

e Question No. 123
The blood sugar of an insect is:
Options:

1. glucose
2. mannitol

3. trehalose
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4. mannose

5.

Answer : trehalose

e Question No. 124
The seed multiplication ratio of rapeseed, red gram, hybrid maize, sorghum and jute is:
Options:

1.1:50
2.1:100
3.1:60
4.1:80

5.

Answer :1:100

e Question No. 125
The leading producer of Muga silk in the world is:
Options:

1. China
2.India
3. USA
4. Russia

5.

Answer : India

e Question No. 126

The value of
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1 1.1 .4, 2.7 1
= T = T4+ Zyl_Z
200 13x50 553G

2[52 _i(g _:_;) +2% [E + 45 G +§)} +3] Is:

Options:

1.18/277
2.9/277
3.6/103
4.8/103

5.

Answer : 6/103

e Question No. 127

The value of

(0.5+0.75)%(2.5-0.4)+0.125 of 4.8 <.
(0.5-0.3 of 0.25-0.2)+(0.5-0.3) 0f(0.25-0.2)

(a) 0.002
(b) 0.194
(c) 0.149
(d) 0.008

Options:

1.a
2.b
3.c
4.d
5.

Answer: b

e Question No. 128

. 0D
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The LCM of three numbers is 300 and their HCF is 10. If the sum of the numbers is 100, then the sum of their squares

is:
Options:

1.1400

2.2000
3.3800
4. 6500

5.

Answer : 3800

e Question No. 129
2 _ a
If X* - 4x + 1= 0 then the value of (x - 1/x 5] can be:
Options:

1.304/3
2.26
3.84/3
4.52

5.

Answer : 301/3

e Question No. 130

One of the factors of a3 - b3 +1 b3 + 3abis:

Options:
lTa-b-1
2a+b-1

3.a2+b?-ab+a-b+1

4.3°+b?-ab-a+b+1
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Answer:a-b-1

e Question No. 131
The measure of an angle for which the measure of its supplement is 4 times the measure of its complement is:
Options:

1. 45°
2.60°
3.75°
4.20°

5.

Answer : 60°

e Question No. 132

AT = x"? —_— = .
It N T LY Bl b+/30 the value of 8b - a is:

Options:

1.3

2.4
3.5
4.7

5.

Answer:5

e Question No.133

The salary of A is 80% more than that of B. After 1year, A’s salary is increased by 20%, and the ratio of A’s salary to

B’s salary becomes 2 : 1. What is the percentage increase/decrease in the salary of B?
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Options:

1. 8% decrease
2.8% increase
3.0.8% decrease
4.0.8% increase

5.

Answer : 8% increase

e Question No. 134

Anu marks an article 35% above its cost price. She allows a discount of 20% on this price. She further decides to

give another discount of 25% and suffers a loss of “45. What is the cost price of the article?
Options:

1.3240
2.3244
3.3280
4.3284

D;

Answer : 3244

e Question No. 135

A merchant mixes two varieties, A and B, of wheat costing ¥30.80 per kg and 326 per kg, respectively, and sells the

mixture at ¥x per kg, thereby making a profit of 10%. If A and B are mixed in the ratio of 5 : 7, then the value of x is:
Options:

1.28
2.30
3.20.6

4.30.8
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Answer : 30.8

e Question No. 136

The average of 15 numbers is 118. The average of the first 5 numbers is 92, and that of the next 7 numbers is 120. The

13th number is 14 more than the 14th number but 13 less than the 15th number. What is the average of the 13th and

15th numbers?
Options:

1.162.6
2.162.8
3.163.5
4.163.8

5.

Answer :163.5

e Question No. 137

Pipes X and Y working together can fill an empty tank in 15 hours. Z is an emptying pipe. If X, Y and Z together take
25% more time than what X and Y together take to fill the empty tank, then how long will Z alone take to empty

the fully filled tank?
Options:

1. 64 hours
2.70 hours
3.72 hours
4.75 hours

5.

Answer : 75 hours
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e Question No.138
6 men and 9 women can complete a piece of work in 10 days, whereas 5 men and 4 women can complete the same
work in 15 days. How many women must assist 4 men to complete the same work in 7 days?
Options:
1.20
2.22
3.24

4.30

5.

Answer : 22

e Question No. 139

A circular road surrounding a circular garden was repaired. The total cost of the repair was ¥2,21,760 at the rate of
310 per mz. If the linear radius is 112 m, then what is the width of the road?
Options:

.14 m

2.15m

3.30m

4.28 m

5.

Answer:28 m

e Question No. 140

When (x3 - 2x2 - px - q) is divided by (x2 - 2x - 3), the reminder is (x - 6). The values of p and q are respectively:

Options:

1.-2and -6
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2.2and -6
3.-2and 6
4.2and 6

5.

Answer:2and 6

e Question No. 141

The selling price of an article is 80% of its cost price. If the cost price is increased by 12% and the selling price is

increased by 25%, what will be the percentage increase/decrease in loss with respect to the earlier loss?

Options:

1. 9% increase
2.18% increase
3.20% decrease
4.40% decrease

5.

Answer : 40% decrease

e Question No. 142

In a class, the ratio of the number of boys to that of girls is 2 : 3. The ratio of the number of students who passed to
the number of those who failed is 5 : 3. Among boys, the ratio of the number of those who failed to the number of

those who passed is 3 : 1. What is the ratio of the number of girls who failed to those who passed?
Options:

1.1:5

2.1:7
3.2:7
4.2:5

5.

Answer:1:7
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e Question No. 143

A and B share a piece of land in the ratio of 3 : 4. Each of them grows rice and wheat in this land, and the entire land
is covered by rice and wheat in the ratio of 4 : 3. If the ratio of rice to wheat grown on A’s land is 5 : 3, then what is

the ratio of rice to wheat grown on B’s land?
Options:

1.15:14
2.16:13
3.17:15
4.18 : 17

5.

Answer :17:15

e Question No. 144

A farmer took a loan from a finance company for buying fertilisers, which had to be repaid in two equal annual

instalments each of ¥5,512.50. If the rate of interest was 5% p.a., compounded yearly, then the total interest paid by

the farmer was:
Options:

1.3664
2.3775
3.3%780
4.3810

5.

Answer : 775

e Question No. 145

A man can row 7(1/2) km downstream and 5 km upstream in 1 hour. He can row 22(1/2) km downstream and 20 km

upstream in 3(1/2) hours. He will row a distance of 18(3/4) km in still water in:
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Options:

1.1 hour

2.1(1/4) hours
3.1(1/2) hours
4.1(3/4) hours

5.

Answer : 1(1/2) hours

Question No. 146

Places A and B are 105 km apart on a highway. Two cars start simultaneously from A and B. If they move in the same
direction, they meet after 10(1/2) hours, but if they move in opposite directions, they meet after 1(1/2) hours. The

speed of the faster car is more than that of the other car by:
Options:

1.20%
2.28%

3.30(2/3)%
4.33(1/3)%

5.

Answer : 33(1/3)%

Question No. 147

The perimeter of a triangular park is 540 m, and its sides are in the ratio of 25 :17: 12. If the area of the park is equal

to the area of a square field, then what will be the perimeter of the square field?
Options:

1.120n/6 m
2.125v/6 m

3.1200/10 m
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4.125\/10 m

5.

Answer : 1201/10 m

e Question No. 148

A hemispherical tank full of water is being emptied by a pipe at the rate of 3(4/7) litres per second. How much time

will it take to empty the tank if the diameter of the tank is 3 m?
Options:

1. 30 minutes
2.33 minutes
3.35 minutes
4. 40 minutes

5.

Answer : 33 minutes

e Question No. 149
InA ABC, = 0A =120 and AD 0 BC at D. If AB + BD = CD, then the measure of OC is:
Options:

1.18°

2.20°
3.25°
4.30°

5.

Answer : 20°

e Question No. 150
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In D ABC, X and Y are the mid-points of sides AC and BC, respectively. If the area of D CXY = x and the area of

quadrilateral AXYB =y, then:
Options:

1.y =1/8x
2.y =4x
3.y =2x
4.y =3x

5.
Answer :y = 3X

Direction:

37 31R it BT 15T # &H ART 5itad o) I8d &1 J1gd AYSTaRT & [Rit aY URud eldt € biid dg BuUTid aldt el STdHlb
g2ft @t &H 31U 3e? &l aaRiAT Bid! 81 8RR 31d:d0T A 3THe BT TRIGR 3R Wit BT @11 Tea afcgA I&dT 81 3 I1e! 3R
¥THATT BT I8 HSRER & STET §HRT 37d: R0 37151 dch T THT ATGT 3R FHTIT BT TRETT IR RadT &1 I Igd JeEim
3R IR 21 TE HTUBT AGEIBR G HE 21 3HD dfiTel FIRE H I ATAH{D 371G P R1Yd BT & al 38 36t afem & aRgeifa
BT EHT| ITET HA DI FB o B Afe Ad , AR 3R ITafEH B 3R 3aRAT B ARG20 151 B g8 3R TREA I
ABRIGHP ATGT- ATHATIT BT AT B 3TUD AATC 3THe D 3HI Fed Aldt AfbTel B ol | TRAR 37U 37d: P07 BT It 3131
34 &l 3R eR-ER g2 B 3BT 3P 311G 3R Sfta-Hugal & TRIER B ST, 379! uar HE 78t g

e Question No. 151
3R TRl B YT I Uefe 3R 3ugdd ARub &1 I Biife:
Options:

1. 3G Bt @15

2. 3{aRAT - GTGT BT HERER
3. 37T

4. 31a3HA Bt 2kl

5.
Answer : 3¢ &t @5

Direction:
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377G 3R et & W57 7 87 ORT 5ita o1 T8 d 81 I8y AfNeaR! & @it df [Riad eidt 8 A a8 Buvifd eidt 8l STdAfd
gl dt 8 3707 3eR € et Erdt 81 AR 3id:aR0T 7 311G BT TR 3R it BT @M1 Hed afegAr 38dm 21 3 arel 3R
AT BT I8 HSRER & STET §HRT 37d:0T 37157 dcb BT THY ATGY 3R THAfaT BT TRETd IR RadT &1 I 9gd JeEimA
3R IR 81 IE ATUBT HENGRT o W 81 58 aRITd TTRE # 4 TqAfd S B [Rad &A1 & di 58 34t glRm # aRaera
BT EHT| ITET HA DI FB o B Afe Ad , AR 3R ITafEH PBIs1R 3R 3aAT B ARG20 151 & g8 3R TR A I
ABRIAHP ATG1- ATHATIT BT AT B YD AATC 3¢ D 3HIA Fed Aldt AfdI R o | TRAR 37U 37d:PBI0T BT IEt 311
24 e 3R eR-ER a8 Ber 3 311Hfd e 3R Sfiad-Huazdl & SRR & 71, 3179kl gt W 78t gem|

e Question No. 152
3WRId TRl DY YT I Uefe 3R 3ugdhd 3qa? b1 Igd PIIT ?
3aRAA A TAA{D 3G B AfeTdT 8 ?
Options:

1. 3FARAT GHSTAT & Bf g1 TS Tmef|

2. 3ARAT TBRIAHDAT Bl HICTH HBRIGHDBAT d A Bl ATd R odT & STIHH ATqA{D 36 AfeldT 8l
3. 3R # PAA 3BT TG WIREN 8d! 8, 34! Pl a1ud P adl &l

4. 37d3AT GG d 3B BTH Bl 2

5.

Answer : 3HdaTAT ABRIGHGAT Bl AT HBRTAHDBAT I HA B 2ATd &R odT & ST 3TaH{d 3T AfeldT 8l

Direction:

37Hg 3R GRit B W5 7 87 ART 5ta o1 78d &1 T8y AR & GRit dl Riud 8Ydt 8 $fHd de Buvife eidt 81 TdAfd
it at &F 3197 3MeR & deTRMAT Eld! 81 BAR 3d: 0T A 3¢ b1 TRIR 3R Weft BT W1 Ted afcgA I&dT 81 A I1al 3R
HAfd BT a8 HSRER & STET §HRT 37d: 0T 15T ab bt Tt ATET 3R 3afdt B TREd R RaaT 21 I8 §gd e
3R I B1 TE HTUPBT AGEIBRT S H 21 30D afITel TIRE H I ATqH{D 377G P R1Yd BAT & ar 38 36 gfem # aReeifa
BT EHTI ITET HA DI BB o B Afe Aid , AR 3R 1TafeH B 3R 3aRA B ARe20 <151 & g8 3R TR # 8
TPBRICHD ATal- AT DY HieT &R 317U AMC 3THe B HTHICT Fed Hid! AfbTel B 1| ARAR 37U 3id: 0T BT TEt HATSH1
2d el 3R eR-R I8 B B! HATqHIP 311E 3R SitaT-Husgdl & TRIER B SN, 379! udT HE Tet T

e Question No. 153
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3R TRl DI YYD USTU 3R 3BT Het ARIRM TdTs:
Options:

1. 5T 3aAA P Rafed 2rid, AR 3R GoI &7 &1 ARG Aferdl 8 d) I8 T TG RI bilg THSIGR dddb B die
A Pt AR ABRTAAP TAfdTET Bl gerdr siTar & 3R 3=t 3R gae 3yl B! Rarefd & &Tdl 81 A7 id 81 &
37 BT 31HT 81 o7TaT & 3R eR-eR T&l 311e Hia quté 81 7T 21

2. 578 3dRA &Y QRAfG 2ffd, HR 3R I 387 &1 TRE2A AfeTdT 8 dl a8 T ATSHIPRI Big THEIGR Add bl dig
HA H 37 W a2l

3. 3ARAT BT ARG AfeA A HA 20Td 81 STTdT 8 3R 3116 &1 3Hd & &TdT 8l

4. 3 AT A Igd 2bdf eldt 81 I8 BAR ARGATTIR A P R afcR 8T B 31 diRT @ W adl 8 ST it Aferdt
2l

5.

Answer : 5d 3AdAA Pl Rdfc 20id, AR 3R GRI & BT TRER( Afeld & a1 g8 T TG R! bilg THSGR dddb B die
HA BT AR ABRIGAD TTAJIET Bl BTdl STTaT & 3R 381 3R ge AT BI WaTeld B o’Tdl & 7 Aid 811 4 3(He
BT HT 81 oTaT & 3R eR-eR I&l 311e Hia g &1 SrdT 2

e Question No. 154

8T HA Bl §B & P e 2Aid , HUR 3R 7dfEH BISIC 3R A Bl ARG2( ST B ag 3194 FHRE # F ABRIqHS TTaT -
AT BT AFCT &R 31U FIfC e B ATHIC Fad Hid! AfdbTet PR e |

3R TTEATRI DI YYD UG 3R RAThid 320 Bi 3uGdhd TIRGAT BT AT Biife:
Options:

1. S8 HA HIAT sig B odT & al 11 ATS WA Pl ATd I adl & 3R 37Hg HieTdT 81

2. 918 HA Pt ITAfEHdT 37T 3quAT B3 @Td! & 3R 2ridf &t 317qdf gidt 21

3. 519 T8 H AT Bl 21Td gldT @ 3R 30 {1 &bt Wl gRIgddf gld! @ dl 3iaAd eR- e ga qaRan
3R 2ATaf Pl ATed A dget adT & 3R AT # AfRfd FBRIqHP 31T WaTefd 81 o7Tdt 81 Afdd ot 32e-g2re 3R
ABRIABAT AU B & HH DI 2ABdf Afetd! & 3R 3aRAT AHeld 3R HuId 8 o’rar &l

4. 579 ITEd WA TTdfel g1 2ATd 81 STTdT @ df 3a3Ad eR-ER 30 FRar 3R 2Aiaf &l 31971 AdT 2 31R =fdd &t 320d-
Yeiel FHTY B4 & A b ATAl HieTd! & 3R 3aAT 3Hafd 3R URd I&d @Tdl 2|

5.
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Answer : 578 ST HA TTAfEH Bl 2Iid BldT @ 3R 9 WRaRfAT Bt Rafefd YRigddf edt 2 dr 3iarA eR- ek g qarRar
37R 2(faf Y 31Ted A dgat adT & 3R a7 AR GBRIqAP 33T WRaTefd 81 oTd! 81 afdd o 32e-g2e 3R
APBRIAHEBAT GATYA B17 & A PI 2AbBdf HicTd! 8 3R 3dRAY 3Hefd 3R Jutd 387 orar 21

e Question No. 155
A 7 B AT BRATTA IRz At 8 ?
Options:

1. WR2AT TR

2. q@-afear

3. HUTGP P ATH YR
4. AT IR

5. 570 A DI el

Answer : AfAAROT TR

e Question No. 156
* TRAT3UELT BT HINT H B HIST I 37T & ?
Options:

1. gfet

2. 99%d
3. 37
4. BRET

5.

Answer : §H&d

e Question No. 157
‘FIR BT dddqH’ €S e

Options:
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1, TR

2. PR
3.RPIR

4. R

Answer : TR

e Question No. 158
SRR AGE By afeft HIST d 3T 8 ?
Options:

1. TR[aAl
2.3

3. S{OTHt
4. 3Rt

5.

Answer : TR[dl

e Question No. 159
“§H GHT Ml YZdd Ued &d 21 59 ITehd H "GAh’ A PI-HT HEEED & ?

Options:
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e Question No. 160
AfFATBId 7 & B AT ASE ASE! BT A & ?
Options:

1. dYcAT

2. argAfef”
3. 3701
4. 319

5.

Answer : SIY

e Question No. 161
‘511 2Ie[G PI AT TAATH 2 ?
Options:

1. R [E A
2. 4151 arad
3. &Y I
4. 9 qrIH

5.

Answer : §&Y dTIh

e Question No. 162

B AT BT D 37 IfE Pl bed & ST BRAAT BT RaJhy At BIH I 8ldT & 3R &A1 # Wik
g el

Options:

1. 9T

2. B



3. Mg
4. A 3R HIE

5.

Answer : BIH

e Question No. 163
387 S Pel “AA 315 v ARt et 21
3hdd IRATATT W B IRTH afe bl BH a1 qZef @ ?

Options:

Answer :,

e Question No. 164
“ Hel8R AcTTIAT YETeR &l 3dfd 3R gAfE ?
Options:

1. 3791 € I8TE &R &A1

2. IR BT TR R GLHTT &1
3.99 9§ St der

4. 3131 91d 381

5.

Answer : o9 & SRt BT

e Question No. 165

ixam
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* BT IHG P qIIER H ST SHBT RA BRI AGE I & ?
Options:

1. 39T

2. 30Ut
3. ORI

4. TguIT

5.

Answer : GRAIT

e Question No. 166
AfFARafd 7 & B 2reg A Her-aIs1 deeit R Tet 8 ?
Options:

1. 3TRT
2.3418
3. S5t

4. ggR

5.

Answer : 33Td

e Question No. 167
PBRATTA 37620 Tad RYfd 8T &
Options:

1. TG A RS B

2. RIVE q HAMNS BY

3.3MT 3R

4. gFRANTd U T RITS F FAYS B

5.



Answer : TRIYE ¥ BAMNS Bl

e Question No. 168
A A A B AT 2SE HeR BT g ftepRor 781 8 ?
Options:

1. 9o
2. &7d

3.3
4. gafdqa

5.

Answer : Gafdd

e Question No. 169
“qf7 + due AAARId A A A Juf BT AT 7 ?
Options:

1. 8e1 Guf

2. gyt
3. geuf gef
4. gepf gt

5.

Answer : IRRIT AU

e Question No. 170

ST A W GLd-Ug TN0T d2iT 3ddR-Uc TRET &1, 38 6 91 A BeEd € ?

Options:

1. de gug
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2. ggaitef aHd
3. gafT] gH™
4. AN THH

Answer : ddU3¥ HHH

e Question No. 171
ST HT, TRAATH TG 2T & SR AC AGl Bl T BId & , I B A RATT Pacild & ?
Options:

1. deufd aaa
2. e d Raad
3. §HRA RAgd
4. 31 Ragd

5.

Answer : de@fd Raad

e Question No. 172
* TR BT ‘qgHa’ QTG &:
Options:

1715
2.7Mi&

3. 77edt

4. 7qeft
5.

Answer : TI'TB

e Question No. 173
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5T TRAATH T5IT RSS! & Ad & §9d &, 38 ®ed &
Options:

1. IR W™
2. 31afdR TR

3. 4ghd WA
4. AT FAATH

5.

Answer : §gdd I

e Question No. 174

ST PBRAAT T YTl qATIR BT BT dBIdT B! BISd: B W USdl &, 38 P Il BfAT Hed & ?
Options:

1. 37D BRFAT
2. GbIHP BRIAT
3. GAfBAS AT
4. GRUTR2[d BT

5.

Answer : TRUTR2® BY

e Question No. 175
HAMTG & 3AR ‘82N’ QIeg PIH-A1 IRAATGISTED & ?
Options:

1. gHETEA
2. et
3. YfbpR
4. affmg

5.
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Answer : Idrat

¢ Question No. 176
“gA S WA &d BlI' - X' A B T 3T & ?
Options:

1. affAaTefdes
2. Heydied

3. 4fura

4. HO5Th

5.

Answer : AfaTd

e Question No. 177
U B IIRIARP A BT AT BISIC:
Options:

1. afqeer
2. afquom

3.qudf
4. Y

5.

Answer : afqeOT

e Question No. 178
STET URATT” BT 3T gt a1 AT BlaR qakel Bt a1 siletT & aet aferma
Y 3RRT:

Options:
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1. A &R 3791 §:W Bed ST
2. 37113 & A1 AT

3. IR-FARAIAT

4. 81 UCPh-YTdh &R T

5.

Answer : A3 &R 3701 §:W BEd STHT

e Question No. 179
TfAerRafd 2raet # @ B 41 /g deardt &:
Options:

1.qd
2.qdt
3. qdta
4. Sqdr

5.

Answer : ¢dTg

e Question No. 180
‘W BT H ORAAT & IThd A B HT WREJT & ?
Options:

1.BH
2. 3UTEH

3. 37erfdsRoT
4. GRS

5.

Answer : 3T¢JfB0T
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e Question No. 181
BT B SR T A BT AATC P FHY BT 51 &1, 38 Bed &
Options:

1. Uy

PAGHG)

3. YadTe
4. a/

5.

Answer : dbTeT

e Question No. 182
TR W IRYhd RISE! H TRHUR HHFHY Bl Pad &
Options:

1. YGHIA
2. 39dd
3. 36T
4. afog

5.

Answer : 31{dg

e Question No.183

BT TR 3TUfBRY Bt TGhdl, TSI, HABRI-Felhd! AR 37D HATTRT Bl FIAT DI A5UR H RHRIFT BRA B e
B IR BT GRIPT BT ST 8 ?

Options:

1. RIUR
2. TGl



3. 3TUREAT
4. BRATAT FHA-TR
5.

Answer : 3TLTREAT

e Question No. 184
A # T B I REG TRAAT 3R START B TR W A1 bl TMBI0T 78T & ?
Options:

ESCRIET]
2. URR[Afd
3. 99y
4. 39H

5.

Answer : TENY

e Question No. 185
ST HeRl & 3R A &1 HIGRT BT HY ¢TdT & IT 48d I GIAT gHT
@A, 37! Pbed & ?
Options:

2 RAR
3. A AR
4. TG HR

5.

Answer : T R

e Question No. 186
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FAT B TR R YT B aIMB0T A 3HBT HAT HAT & ?
Options:

1 REI
2. Raqd

3. BIbeTd
4. 55T

5.

Answer : BdIheTd

e Question No. 187
Tef-afse # dcf Gt 3T & TRUA TROT T | PIS ATMIb 0T &,
ar G id THA , YA IROT & T UR 34T a7 BT i T 90T &
STET ?
Options:

1. 31 T07 BT Gt aRoT
2. 38t o1 BT 3D 3RTd YA aRoT
3. 331 90T BT TG aROT
4. 351 TRIT BT YRYH TROT

5.

Answer : 3T aR9T BT 3P 3R2ATA UTH cRUT

e Question No.188
YT B BV B 3TUR R 51T reg ARAT &1 77E & 3R STt agdqudar

3551Td 8, B ASE! Pl BT BET ST & ?



Options:

1. Ad9H Qg
2. QAT R(EG

3. gfc2rst 2reg
4. WRd RM€a

5.

Answer : G2I5T [€G

e Question No. 189
TIAUAAf P TER W G5BT & Bidd He Bld & ?
Options:

1.8
2.d
3.4
4.5

5.

Answer : di

e Question No. 190
* GHMTEBROT B 37T BTG & ?
Options:

1. I EE D
2. BAT-afrsor
3. HeHdEd

4. afgAaTefeEd
5.

Answer : FHIIIEEDB
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e Question No. 191
3WRGhd TRy # WRafe(d H1 a1 afar-afdsor g ?
Options:

1. T[0T dTeres R fT-afryor

2. RFTUTarad HAT-afrsoT
3. BIAdTId BRIYT-afAqoT

4. AMITIP BRIAT-fIgoT

5.

Answer : BTAATId BIIAT-ARATOT

e Question No. 192

TEE-TRRI H HAE T 3R FTET A 7 G5B 81 oI 3TRIGBT BT & , TEt TR BT 3R &

Options:

1. /7 21 Pt qAfal

2. BB gefd 814 & ARER &t Fafdl

3. B B qAfal

4. qrHaafddr & dfe sAfEa o gafaf

5.

Answer : IRddiddl B T AR Bt qaufdf

e Question No. 193

* BT Bl AT THG BT 7 SUAAT ITHITRA P AT 3UGhd 2AeE BT I BISIC:

Options:

1. gefYBR
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2. RYBR
3. dRABR
4. RUBR

Answer : SgfYBR

e Question No. 194
“ BA-PeT ASG GITH P Hel 3RY-Hg BT TG PBIIC:
Options:

1. dRI-ITHA
2. GRI-BMART
3. BART-CRI
4. FI-GRI

5.

Answer : Tg-d?f

e Question No. 195
ARl 9 AgAMI # I &1 Uh qebdf Bl UbgT 3R 37 W ART BT
________ ITIT,3UGehd 2AEE BT I BISIC|
Options:

1.5

2. QIYRIYoT
3. 3R
4.GUTg

5.

Answer : 34T

ixam
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e Question No. 196
AfFAeTRafd # P A7 2€E Yo 8 ?
Options:

1.<H®
2.31d

3. Rl

4. 9feR

5.

Answer : TfER

e Question No. 197
“ IE 2ATH Bl TR STETI TR R gddf T 3R Pl B A1 WG & ?
Options:

1. FHHTITRY
2. AREIARY
3. YBdRY
4. afeERe

5.

Answer : AREIRY

e Question No. 198
“ IE HI5H SATAT 81 ITchd H P AT UPY & ?
Options:

1. 3Mqqdies

2. Iddduisd
3. qfqarqr®

ixam
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4. RTYRH

Answer : ATgAd{cid

e Question No.199
I arepd # €1 AT & A 37e/fd Hadd 3uaThy B 3R AN garT 73 &,
IE PBECTIdT © ?
Options:

1. 39d1HT
2. "fRfa arpg

3. §gdd arRd
4. A g1

5.

Answer : §gbd dTbd

e Question No. 200

‘' qH I3 TTcATe 8’| 39 AT H &I 1 3i[eef e ?
Options:

1. TR Feieft aeef

2. SR Haeft 3t

3. ATRY-URAPT Heitlt 3R[eEl
4. T Heitit 3ReEf

5.

Answer : 3G Feaeft 3ieef
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